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Generalised conclusion on the basis of a sample 1s technically known as :

TF A94 & AT 97 AOFT W TG B H AT Sl £

Options :
Statistical inference

O3 ery
L MAAHE R

Descriptive statistic
JUATOE ATRST

2. %

Data analysis and interpretation

3 % BET [O9eEor 27T ST

All of the three

, w A E T
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Question Label : Multiple Choice Question

The pmmm] of asking pre- meditated questions in instruments of data LD[]E(‘HD[I is:
HOF TAAE F ITEION T TI-TUEEET 959 TEA H U 2

Options :

Structured

= RUEF

1.¢

Unstructured
5 % A

Free-rein

-3

3. %

Systematic

g, % AT
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
AN FHEE T-AIRA § AT

Options :

H1gh in replicability but low in internal valdity

| gferprd O 3=d aifhd A Juar O &g

H1gh in mterml validity but low in reliability
HAMGF TOA O F=F AR [AeaE=EaT © g

H1gh mem]ﬂmd] validity but lcm in external validity
i Jaar T 3= @fEA 9= Jgar O &g




MNone of the three

Lo A H T A
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Question Label : Multiple Choice Question

Testing hypothesisis a......... .
Ti{hed=T T & |

Options :

Inferential statistics
ATHANE AT

1. ¢

Descriptive statistics
w TUHATEE HJIRAH]

2.

Data preparation
3 % HOFH FH A=A

Data analysis
j w THE T e
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Question Label : Multiple Choice Question
Inductive logic proceeds from :
ANMOATG S 7% FATAL =061 2 ¢
Options :

General to General

O O

1. %

Particular to General
5 [@Eg F A



General to Particular
5 s AT H s

Particular to Particular
4 % TEET H T
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents i1s known as :

TEIRTETAT B T T U7 ST Oia=ET SR R =3 SAET 2
Options :

Convenience Sampling
EIERIIGERE

1. %

Snowball Sampling

AT Ofa=4
2. %

Cluster Sampling
5 % TUE AR

Stratified Sampling
PR S MER IR

4.
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research 7

HAMGH OhE T Aesel F O9G B Deuer hE sie #H ST 29

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all



candidates.

Options :
Descriptive Research
AU F ST

Fundamental Research
o TEE STH

Pure Research
SESTH

Casual Research

4 FEUCOH T
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Likert scaling is based on :

oThe JOMET SJTEnd &

Options :

Item-wiseﬁscule
| Te-F0 IO =4 T

Summative scale
AEOF TOH T7

Retlective scale
Ao o TT

Formative scale

4 % O IO O%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : )
UF 9T TOoEr ORG99 sy #JuEr & o 3uge Eer g, fEEd

=

ATOTT4T =Fangs ®ER 99 &= 5y AET 2o

(a) The means of obtaining information
AT AT B B/ AT

(b) The availability and skills of the researcher
SRl i ITareddl AL HIgT

(c) The nature of the problem to be studied
HLIH Bl A Al TOEAT B Ol

(d) The availability of time and money tfor the research work
=1 e A 2 e R T Ll e e EA = A U

Options :

(a), (byand (d)

| % (a), (b) =77 (d)

{a), (b) and (c)
(@), (b) AT (¢)
2. %

ia), (b, (c) atld (d)

3 (a), (b, (c) AT (d)

(b, (c)and (d)

L% (b), (¢) FATT (d)
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SHODHGANGOTRI 15 :
SHODHGANGOTRI %

Options :



Database of articles

or J:j. _-El- .-' o "-j 1.:

Database of thesis & dissertation
g AT AT oy U=y W EEEd

Database of research swmpms
R AT Hw EEE

3.¢¥

Database of experts

423%:%:@%??_1%?
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nef true 7
Aei=h =R TR b A U Mg O F FE AT J8 = ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

In this metlmdi each unit has equal l.,h’mc‘e to be selected.

1 =6 TEId O Uddh 30E & =Fdd BH @ 99 FTHT Sl %I

Each sample has equal chance of selection.
ool Oicesl & =99 H TR JUE S B

It is free from personal prejudices and bias
e FTHE GAEenAT AT 9HaE J Ted =60 2 |

3.

This method is very simple to use
TE T TAN FHIA O FEE AT 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
AT ot TEE (slrE) A FE E

Options :

Latin

French

German
3 % A0+

Italian

= =)
FE ) R,

4o
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

=9 A FI-TT SIEFEVT WA F @9 AT U7 @R B al Jmorer I #l
TEAE B H 0 CHUEl % SAEET W ITAN ®Eal £ 7

Options :

Idiographic Approach
SEAMANSS (THITH) S HIT

Nomothetic Approach
AMOTEEE (FFEFTITE) S hY]

Empirical Approach
5 s FIITTIA SEEH



Pragmatic Approach
% BRI EI RS Al

4.
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain
order :

AAAUE UEA % Hed T, Meligd UiiEed =S99l U HieEe B o
o A E

(A) Conceptualising the research design
ATAGN HATIHTT H AT |

(B) Formulating a research problem
E0 k= IS RREEP = ] T

(C) Selecting a sample
Oicesl T =9 |

(D) Constructing an instrument for data collection
S HUE B 00 HAFHAN HES B i

Which of the following options represents the correct order ?
FTiEd O H -9 [@hed Hel 0 & Jid-idae &l © 7

Options :
1. v/ B, .-‘:"L, D, C

, % B.D.AC

; % BCAD

4.23 B,C,D..“ﬁi
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Question Label : Multiple Choice Question



Impact tactor of a journal is defined as :
fFHT FHe & 09 e (Impact factor) T 29 OFRE TGS TRAT AT E

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received
TE Hel ®O U FJE@ O Ued aeE OEEl O OS09E oiEl O OTEE

It is the yearly average number of citations that articles published in the last four
years in a given journal received
qE T ME Ul O oo =7 a9t O OEnie oeai F angs T

It 1s the vearly average number of citations that articles published in the last two
years in a given journal received
7= 5l 0 T S e © fred o a9 O OEieTd oidl B anus S

It is the vearly average number of citations that articles published in the last five
years in a given journal received
Tz &1 ME OEE O gl 9= gul O OEieE ohEl d andE HAEd

4
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Question Label : Multiple Choice Question

The three basic principles of experimental design are :

TR A1 F a9 Oadgd R =

Options :

Replication, randomization and Substitution
TS, TesOE=s™ Ug T@2iod9-

1. ®

Replication, randomization, and local control
. YERA, Y UIEHe U S Bl




Substitution, replication and local control

A9, TS UF T Frg el

3. %

Substitution, randomization and local control

L% AFEIgs™, EOE=9E Ud dHd Frgld
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
S H AIEE IU=EEl H O O Egs F fassiuer AT A

e

Options :

Simple t-test

L% 0T -9

Chi square test
o FZ AT T

F-test

_TTE

Paired sample t-test
Jfe S d-i

- et
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Question Label : Multiple Choice Question

Which of the following 1s nof a method of research ?

Options :



Survey
[EEE

Historical
M GIHIEEE S|

Observation

ST
S EIET

Philosophical

I E il
4, ®
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?
= O F B AT U & SJET 7

Options :

Pie chart

Bar chart
F R EET

Histogram
AT =3

Box plot
g1 =T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

Az-AEY AqETE B T SEET F AT U7 @ g e A1 S
g7

Options :
Applications of the tindings of the research study.
| x ST ST F MGl B SATART F AT U7

Objectives of the research study.
5 o M FIES F I F ATER 0T

Mode of enquiry used in conducting the study.
3 % AFFE T HEEE O ITERT B OAE AR SE F TS OAEE T

Outcome of the research.
4 % ST T OROTH T STER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards
people in wheelchairs. He/She can study their reactions by sitting in a wheelchair
himselt/herselt. Such method of collecting data is known as :

U SNEEal Ee=ET O AT @R & Oid A SAERl & O EAE #i
AE HeAT ARGl | g8 @A EeEAT O ao®e 39 Oiaieere @
HAFA BT AHAT 2| B UFA FAA F I GT B EA TU G OFET @

Er

Options :
Disguised Observation
=T AT TR
% U= A de kA

Participant Observation

2.¢ PIGE R L 7

Non-Participant Observation

3 s TR S

Self Recording Observation
y w T TEEIET e
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Question Label : Multiple Choice Question

Which of the fnl]nmnn 1s are citation/reference style s] 7
MmET O T R SR sAe @iy (&) =2 7

(A) American Physical Association
AGITFA e TATaIs

(B) Modern Linguistic Association
OEA [TIRgE=E THIETSTH

(C)y Oxtord Standard tor the Citation of Language Association
ATFAFE =USE BT T AECsH ATE ovae TEEuET

(D) Vancouver

GE R
Choose the correct answer from the Lnde'a given below :
M=faiad © 3 ®E-A1 981 §E =

Options :

ia), (by, (c)rand (d)

| % (@ (b)) AT (d)

(a), (b) and {c)
5 % (@) (b) AT (c)

(a) m_]d (d)
3 % @FAT)

(d) only
4 TAT (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
UF-TLHT UAET &l IUERET AT A6 2

Options :



Determine whether there is any statistically significant difference between the means

of single independent group before and after intervention .

TE Fuivg ®2ar & % #7 UF Tmag 9g9E O 5EET F usd A7 J.
| % & TT9T (mean) F T FIE HIFABT TETII HT =

Determine whether there are any statistically significant differences between the
medians of two or more mdependent groups

TE Fuied ®ar & T 0 & 91 AGf9® @as Jg9s § el & g

5 % HE AWART =909 F=7 =

Determine whether there are any statistically significant differences between the
means of two or more independemfunre]med groups

TE Faivd Fear & % &0 &1 a7 afas @mad s dq9aad 9981 & OTed
3 o (mean) % 4 FE AfESE gewTyl s & oA A€

Determine whether there are any statistically signiticant ditferences between the
squared means of WO or more mdependent group
Meiftva ®eam & % o &1 ar Aafaw mas AO=] F A 19T (squared

4 % mean) T A" ®IE AARE OETY ST = AT TRl
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Protessor . A. Fisher 7

el e e S TR = 1 1 7 o M 2 -1 e S = s o £ s 1 = gl (N £ -3 £ SO L o
7o Uo fFITT g@rr fiAm o £ 7

(a) Principle of Revision
HeMEIA FI =

iby Principle of Replication
ORI Tl =

(c) Principle of Randomization
"] grﬁ TSRO 1 aEr

(d) Principle of Local Control
A 0 B R

Choose the correct answer from the codes given below :
Hre U T Hs O | HE 39 g

Options :



(a), (b)and (c)
(@), (b) AT (c)
1. %

(a), (b) and (d)

5w @0 AT (d)

by (c)and (d)

4 (byic) T (d)

(a), (c)and (d)

4 % (@), () AT ()
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Question Label : Multiple Choice Question
Read the statements A ’mrl B and choose the correct option :
FT A HT B U% AN HE @EeT =T

Staternent A : Exploratory research studies are also termed as formulative research studies.
FUT A ASTUGREDE 9 ST B ONE ol STora S HET ST R

Statement B : Exploratory research study i1s undertaken with the objective either to explore
an area where little 1s known or to investigate the possibilities of undertaking a particular
research study.

HO B ASUUNOE 9T AOREE H IE9d TRE U =uF O g A
TE® =17 § A5s 9 A=EE I9wed = A7 HE m ded & a1 oo
AT YA B FHAEATET HT TS T 24T 2

Options :
Both the statements are true.
| o SHET FHIT T E |

Both the statements are false.
) % AT FAT FFA E |

Statement A 15 true but B 1s false.
3 % BT A TAA E TET BT £

Statement B 1s true but A is false.
4 % TIT BHAA E kA A T = |
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software 7
M=faiaa O # ®E-4 FJaEs ie-wiaed HiEady =

(a) Urkund
':51;.'1.:;-;_;
by Owerleat

x| R
(c) Turnitin
(d)y Viper

Choose the correct answer from the codes given below :
A= ®U T FE T OH FEN 391 g4
Options :

(a), (b) myj ch

| % ia), (b)) 3T (c)

(a), (byand (d)

5w (@.(b) =17 (d)

(a), (c)and (d)

3 @) 17 (d)

(a) and (c)

4 % @ M7 (c)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-sided depends on :



Options :
alternative hypothesis

3 =TT 1] TioFe
1.« dehlotdch T dnatdl

null and alternate both
I e Ell B A E e |

null hypothesis

- ST IERTTT

either by null or by alternate
4 % AT T S A ORI F
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Question Label : Multiple Choice Question

Which measure of dispersion do not depends on all observations ?

B T B |1 O1T JH] AgErEAl U7 MHT 98 S § 7

Options :
Root mean & square deviation

1wq_5—rrma:r-aq“1'raﬁ1’ﬂﬁ|=r

Mean deviation
5w WA ferga=

Quartile deviation
3 o TOUE HEEEA

Standard deviation
4w TTTE EEERI
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Question Label : Multiple Choice Question



It ris the simple correlation coetticient, the quantity 15 termed as ;
e r JIE ALHGE qOOF T, G O FH A OE T TR AR E

Options :

Coetticient of alienation
| % TIREERIET E oI

Coetticient of variation
[E: o LA Ul 7

2. %

Coefhicient of determination
3 @ @ ZET NN G

Coetficient of non-determination
g s TE-TETOT HT IOE
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Question Label : Multiple Choice Question

A Scattergram is extremely effective :
UF FHog HAoad J9El = o

Options :
to show visually how two vanables are covering
S9EE Bm F oo 56 & =9 &9 o399 =

1. ¢

in organising the scattered footnotes of the research.
5 % SN F feRE Ot w1 i w3 O

in organising the scattered bibliography of the research.
5 s S W AT BT W FE H AT T

in organising the scattered results drawn after the rigorous literature review.
Fol? Hiscd TOET F Je R 0 fewE?d Oemgr 5 #hegd w7 0

4, =
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations 7
TFd O%T & Mg § Humd B eH Tl O AEErEd 87 hA = 1
a% £ 7

Options :

Casval Comparative Research

FIROEOF So-TmE ST
1. % -

Historical Research

TRl 91
2. %

Descriptive Research

3 o AU STreT

Experimental Research
U S
4, ®
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Question Label : Multiple Choice Question

Which one is called non-probability sampling ?
M=arad O # ®E TE-UTasdl 99499 ®l Al = 7

Options :

CJuota sampling

1. ¢

Cluster sampling
T uiaEE

Systematic sampling
AT /2T U=

Stratified random sampling
= AR E Tia=TH
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Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
0 AR ® O § 997 =7 a1 2@ & 949 58390

Options :

The one that is not 1mmpu]ated and in which any changes are observed
‘ﬁ? ‘—[_"_CI_"T/F'?T"'IE_,-' 51 F FAET AT fHED 9 ger aftgde 95 Joie

The one that is tmmpu]’ﬂed in order to observe any eftects on the other
SECCE BRER SR - £ E -t AR A M I e s e A= b =
AT |

A measure of the extent to which personal values atfect research
TFH U AR Ood STy 1 O9Mad Hid = 39% Oi9h & =9 0
TAFT Thar ST =

An ambiguous concept whose meaning depends on how it 1s defined
U A0 AT OE1 A1 TFal = fAas] A9 39 07 [ Hmear 2

L% 5 39 9 ianus e A
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Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence 1s known as :

qEAT W Ui ®mE F 0 oieius [GemarEl 9wl @en F O J9E &bl
M= O FAE A 2

Options :

Case series
T AR
#®



Cohort

2.4}7@_{

Case control

3.wﬁ>‘ﬂmzrrr

Experimental
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Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AN HH H O O, SUshedr i 1 SAgEHT EB =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Statement of objectives
| FEST W FHEA

Collection or data
T F Hhel

Analysis of data
TAT HT FeTEer

Selection of research tools
AT T FHT FAA

4.
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Question Label : Multiple Choice Question
"»’hnh of the fol]nmnn features are considered as critical in quaht’m\e research 7
FF:T fad o T‘[ F -9 [EeaaE NI B ST & I"I” e ;{”I O AT
E 7

Options :

Collecting data with the help of standardized research tools.
_ OERRT ST T80 & & A=AF o 2ATHS] B Fas0]

Design sampling with probability sample technigues.
5 s WG Q== THAH F TN FE ST 9T B e

Collecting data with bottom- up E]ﬂ]}]f‘lLd] evidence.
3 FEAMT AAEE HJEd & TAET HOATRST B FAE

Gathering data with top-down schematic evidence.
o, HH-UR AAEE A H AR H AEHST F AT
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Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentitied with Covid-19 positive. Calculate
the prevalence of Covid-19 per [000 pnpu]mml

OF STET O 25000 ==eA O, 105 FNde-19 AFHEES & 919 38 (60 0
1 °fd 1000 FEEE 9 EBITS-19 F AR Bl TOEAT T |

Options :

| % 52

) 4.2
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Question Label : Multiple Choice Question

The tollowing multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

=T H ATIT FE AW GO 0 g w IALE

Export Earnings

1 polished 3 gold

I 'Lil-]"ﬂ['l‘l'!d --—I:_. _Ei‘-"‘l"lli:.!.iL_lrl:".
700 - 660
505
’a B —y
g
% 500 | 486
409 4116
g f— -
B i 348
E‘ I -.o—
N el 270 .
3 ]
=
i 2
e o
1990 1991 1092 1993
Year ——»=

What was average eaming from gold jewellery over 1990 to 1994 7
1990 ¥ 1994 TF #U ATGUY H AT O P 47 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

503.4 Million
| 503.4 Tofer=



501.6 Million
, 5016 EIEPE

500 Million
3 500 foferr=

510 Million
n 510 Tofer==
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Question Label : Multiple Choice Question

The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

Frfafias 95 91T =1 Ofess S ) 99 & e § e STE Fr oS =
=TE H ATHT FE AT GO M0 U W oI9S

Export Earnings
Polished Diamond vs Gold Jewellery

] polished s wold
! didt]ﬂpd PR _EE‘I"JILIHL_'T:'.'
T = ﬁ_hf:l
505
E B 1
g
ﬁ 500 | 486
8 409
E 358
g oot 270
3 ]
i o
i =
et
100 + l“

990 1991 1992 1993 1994
Year —

In which vear the difference of export earning of two types of jewellery is maximum ?
TFe =9 O o AT9Uel o MFE O @ JeT SAfgEay 97 v

Options :



| o 1994

1993
1991

1992
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Question Label : Multiple Choice Question

Directions ; Study the tollowing table and answer the question given :

Production of different types of scooters in a company

@Sy : Frafaiad Ao & ST9EE HY AT e M UsT @ oFeT &

UF FOA1 O &9 96T & Fped B 3R

Figures in '000

Year Type of scooters
A B c D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 48
1994 | 135 | 30 44 935 83
1995 | 190 | 85 69 | 125 | 115
1996 | 260 | 95 120 | 80 | 120
1997 | 240 | 140 | 161 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the vears ?

1995 T A-TET & FHAl & IARA H FJONAd 099 29F o 3cd1eA
I R A v

Options :

20
1. %
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Question Label : Multiple Choice Question

The formula to calculate economic growth from 2019 to 2020 is given by :
2019 ¥ 2020 % e fefed fGamd &1 A9 & G ©

Options :

1 % [E\GDP_"-‘IE]I‘_-]‘F GDP]{:Q.;]]J" GDP_’-‘(]I[—]] £ 100

2. %

3.\'/[

[GDP2p10— GDPapag] * 100

“GDP}DE"}_ GDP}I’:-]EJ}* GDP:@[Q] # 100

(GDPagzo— GDPagig) GDPagje] * 100
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is wrong ?

Options :

Ordinary Money = Currency with the Public +Demand Deposits + Other Deposits
with the RBI

A H&T = OFdl & UTH Hedl 4 AR O + ARodlodE0 & UTH 7 SH

1. ®

High Powered Money = Currency with the Public + Cash Reserves of banks + Other

deposits with the RBL

S Wfad Hal = Ol & UTH &Ydl + dbl & UM T8 OHT + ARodlodTEe &
o T 3 A

2

The Third -Working Group on Money Supply was headed by Y.V. Reddy
3 gel gfd ¥ Hefad dree afeT qu @ ey drgo 9o YES! 9

None of the three
4 % aEf § 9 35 A8
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Question Label : Multiple Choice Question

Which of the following National Income Identities is nef correct ?
Options :
NNPj. = NNPmp — {Indirect taxes + Subsidies }
L NNPf. = NNPmp — {3{Ucde] &Y + a1}
NNPmp = GNPmp — Depreciation
) NNPmp = GNPmp — &TH

NNPf: = GNPmp — Depreciation — Indirect taxes + Subsidies

3 % NNPf. = GNPmp — 8T — HHHE DY + Aal



All are correct

4 % WA A E
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Question Label : Multiple Choice Question

Suppose in the IS-LM framework the policymakers want to increase output without
increasing interest rates. What should they choose?

A Sifore & IS-LM Wvear § Aifg-FuRe anra &8 § gfg o far gares &
TG A8 & | 98 @] YAl dlev ¢

Options :

The government should increase spending and the central bank should buy
bonds

| % XD P G gGIHT TNeT 3N Haid 8@ Dl 9Us @ Y Hel giey

The government should decrease spending and the central bank should buy
bonds

5  OXBR Bl T GTH AET AN T &6 BT U8 BT HI B! AM6Y

The government should increase spending and the central bank should sell
bonds.

5 % UNBR BT AT GG AT IR F<id 9% FI 908 T ARY

The government should decrease spending and the central bank should sell
bonds

4 % WNBR B AF HSHT AT AR F<i1d dF Bl 9108 G971 A1eY
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Question Label : Multiple Choice Question

For a product with external costs (negative externalities) :
Uh IcuTe & oIy foraeT 9re T (FUMTHS FTEr) g
Options :




Market equilibrium results in too much of the good being produced
AR Hqe @1 URUITH 99 a5 @1 JdHd AT B e @

1.v

Market equilibrium results in too little of the good being produced
TN Heels @1 TRUIMH 6 9% @1 3fd 3ed J137 &1 Icdied 2

2. ®

The market will not provide the good it must be publicly funded
; % TUIR 99 TE @ AR AB] BRI TH AEGE DY & AEGH W Sorad

Large economies of scale work as barrier to firm entry
L% g1 Ua @1 fAaafiand Bt & gaer H 90 & S0 § B Sl
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Question Label : Multiple Choice Question

As per the Rational Expectations theory the Phillips Curve is Vertical in :
fgdellel Iemen & SER i 9% =ad 2l 8
Options :
Only Short Run
| % del HeTHTed H

Only Long Run
, w DA THBIA F

Both Short Run and Long Run
3 o ToUDTe Ud ST S

Neither Short Run nor Long Run

4 % T 1 3R H E—'ﬁ? J8 g F.rlfﬁ A H
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Question Label : Multiple Choice Question

Which of the following is not an assumption of Harrod's model of growth ?
Fefafag 5 9§ @9 e @ [a@rd Ied &1 J=ar J8f © 2

Options :
The desired capital output ratio is constant
giferd Yoil-Sorg iU Rer 8 2

1. ®

Factor prices are flexible in the long run
ATEA-S1Ha SIE®e 3 ArkgR el ©

2. ¥

Savings are a constant pro-portion of real income in the economy
, AT H T9q afaE A B R A e ¥

3.
The labour force grows at some exogenously determined constant exponential
4 % 5 @1 Jid a $9 9 FeiRa Rer aaied &% 9 gl ©
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Question Label : Multiple Choice Question

Which of the following statement about Real Business Cycle Theory is wrong ?
IREd IR =3k (g 9 JeiEd Fefaied 3 9 -9 B9 Tod 8 7

Options :

It gives importance to supply side factors
ae 11‘_7:‘[ UE] Tdl &I Hewd odl ©

1.
It integrates business cycles with economic growth
) I8 AMUR-Tsh $I S [adra & | FHidbd Hedl @

It doesn't rule out the possibility of demand shock cycle
I8 AT e SICal UN b DI GHEHT W $ABN T8l D

3. %



It was originally given by New Keynesian economists
4 o T TUH AT I st e A o
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Question Label : Multiple Choice Question

Which of the following statement is incorrect about Marginal Efficiency of Investment
(MEI) ?

Ffafiad § 9 $E-91 &4 Uil & dHia a9 (MED & Heag #§ Taa ¢ ?

Options :
MEI curve works as investment demand curve
| » MEL @6 e OAT 96 & 9 o &9 Hdl &

The slope of MEI curve depends on slope of the supply curve of capital
asset

2. ®

MEI curve is steeper than Marginal Efficiency of Capital curve

MEI 7% il &1 WG &¥ar 9 @1 e/ 4 Jfas =S 2nil 2

3. %

None of the three
% oAl 5 9 IS T8l
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Question Label : Multiple Choice Question

An expansionary monetary policy may be frustrated if the :

U YERdrel Alfgd Aifd $iod 81 dadl @ afg

Options :
Investment-demand curve shifts to the left
99T |17 T die 31N WIHIaNg 81 WiT

1.v



Saving schedule shifts downward
Tad Il AE B AR WAIRT 8 WY

Demand-for-money curve shifts to the left
geT @1 HFT 95 918 AR WA 8§l

Investment demand curve shifts to the left
4 % [TRTART @6 T AR WK 21 S
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Question Label : Multiple Choice Question

Market failure is the inability of :
AR @1 [awetar F=eiad &1 Ja9d 8

Options :
some unregulated markets to allocate resources efficiently
O AFAHT SR §RT HEEAl & B ATde &I

1.

a market to establish an equilibrium price
U A Hed RIUd $7 § U qrai I

buyers to place a value on the good or service
3 % PAISl ST G% AT Hal & fo1Y TP o ¥ Bl

buyers to interact harmoniously with sellers in the market
qroiN | fashdiell @ A1 Ao Wiid &= J sharall 6l
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Question Label : Multiple Choice Question



For any given price, a firm in a competitive market will maximize profit by selecting the
level of output at which price intersects the :

fpdl <1 83 @Ad W, Yo Uil araR § BH 9ied & W) AR AW Bl SftdaH
T o W™ Fa feiad $1 ufawes &Yl o

Options :

average total cost curve

el HAEd AN I

1. ®

average variable cost curve
2 i 3:| Hdd 9 Qaf <[4 offld ddh

buyers marginal cost curve

3. o UG BT HHG AT T

marginal revenue curve
4% HHid ATTH I
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Question Label : Multiple Choice Question
When does a firm operate with excess capacity ?
@IS HH ARG &HT & el &9 BHH Il 2 7
Options :
it must be a perfectly competitive firm
| T8 IO O 9 AfremEl B e ey

it must be a monopolistically competitive firm

, w T8 TP USSR Ffartar areft HH M AEy

additional production would increase the average total cost

e Iedre- 9§ SAId el orTd H g B @

3. %

additional production would lower the average total cost

4 o NG ITTET STHT o AT BT $H FRAT &
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Question Label : Multiple Choice Question

Oligopolies can end up looking like competitive markets if the number of firms is :
U EHRN groiR U Afawdel 9ofR | aiNafad 21 Jaar 2 afe BA1 & 6T

Options :
small and they all cooperate
o AT AR T F HATT F T

1.
small and they do not cooperate
, x A8 R T HEAT T PN &

large and they all cooperate
3 IE® E AR T W FEEE B E

large and they do not cooperate
4 AEE T IR T T T PR E
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Question Label : Multiple Choice Question

A producer's positively sloped supply curve for a commodity represents :
U AT & 0 Ua 9wy B A b BT 9IS Gl IREES €

Options :
a maximum boundary of the producer’s intentions

efar & SYIEl &1 Jfddag 9 &l

1. ®

a minimum boundary of the producer's intentions
) % FHEAT & $WIeT DI T ~gAdq G4 &6




in one sense a maximum and in another sense a minimum boundary of the producer’s
intentions

3 o TP 3R SfET SR gav ol # i & SRIEl B gh e e

none of the three
4 % GG ARG
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Question Label : Multiple Choice Question
If the amounts of two commodities purchased both increase or decrease when the price
of one changes, the crosselasticity of demand between them is :
afe @il ¢ a1 awgsil @ 413 H Uh @ HAd d URddd 89 W s H gig A
41 Bl 2, d1 99 49 °56T B e | Bl 8
Options :
negative

1 o = e O
positive
, x ETAD

ZEro

3.2351\:5

one
4. % 5P
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Question Label : Multiple Choice Question

The Engel curve for a Giffen good is :
“'-[F\.-* cﬂﬁ m _%-‘I'Z!_ '»T!_"u:rc* do Eﬂﬁ ? 2

Options :



negative

1 . \ﬁ? JI;{'. ] I FFI '-':la

positive
TS

vertical
3 & PHER

horizontal

4 ﬁ a‘."l-’;—.‘-‘ul
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Question Label : Multiple Choice Question

Traditional economic theory could not explain choices involving risk because it assumed
that :

yNufe e Rrgra Wikes arer faeedl &1 &= 8 &Y adal Fdith g8 |l
g & :

Options :

MU always declines,
| v MU (flo 9o) z#en fRmge S 2,

MU first declines and then rises,

, % MU (Hlo So) ¥ Teet fvmae sl & SR e gig el <,

MU first rises and then declines,

MU (¥lo So) T8el Sadl & 3R il el &

3. %

MU always increases.

MU (3o To) TH gl = |

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Empirical demand curves refer to demand curves estimated from :
FIHa J db BT A 91 17T gb 2 oIH FEiaiEd & SER W) e 26
Options :

utility theory,
| % SUITEr fagra 9

the new approach to consumer theory,
) % TR fIgrd & =Y gftes ¥,

information provided by individual consumers,
3 % AT STATTEIT ERT UG B T AEEN 9,

actual market price-quantities observations.
IIifdd dTeIR Hed-HET Sdaid ¥ |

4. v
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Question Label : Multiple Choice Question
Cost-plus pricing :

drTd dfed qed :

Options :
is used when firms do not have knowledge of MR and SMC,
&1 IUGNT o4 fadr orar 8 o9 BH B MR 31X SMC @1 59 F2l 21l g,

is fairly common in oligopolistic industries,

5 % DN AT 5 HIh] 9HE £,

is usually consistent with profit maximization,
3 % AR TR AW SEHTADIT & HJEY T,




all of the three.
a9y
4. &

Question Number : 61 Question Id : 50939817583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Frictional unemployment is also known as :
qe— 9erav I 59 w9 H A1 JFl Al g
Options :

Disguised unemployment
| % T SR

Turnover unemployment
, T AT g

2.

Cyclical unemployment
3 % T SRR

Structural unemployment
4 x SCAACD CRIGHIE
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Question Label : Multiple Choice Question

Which of the following is correct about the "Hindu Growth Rate' ?
Tedfle R g d M i G w1 S 2 7

Options :

This is about economic growth of the Hindu population.

Te fEvg THdEn & e wafs g 2 |

1. ®

Shows economic disparities among different social groups in India.
faf=1 |HIfS W9El @ did 1 ST FFAHal adrdl ¢ |

2. %



Reflects low growth performance of the Indian economy during 1950-80.
» 1950-80 @& Hew @I WA sl & = Wglg o BT aard & |

3

Hints at accelerated growth in India since 1980.
1980 & aTg & 3o Hafg T @IS B YT Bl € |

4. %
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Question Label : Multiple Choice Question

Single out the activity that is ret included in the Industrial Production Index of India :
= 4 | SF- Tfafafe siteEfe soes YEeie § wnEd 98 & 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :
Manufacturing

Construction

g
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Question Label : Multiple Choice Question



Identify the method not being used for unemployment estimation by the NSSO in India.
ARG § NSSO gNT SRIGINT 3HThel- § 81 G e dreil fafer @1 ug=m |

Options :
Current monthly status

L r]rE:l:lv_-| H rli:lc}'_\. ﬁ%ﬂ_ﬁ'

Current daily status
o) E '—J'-_lli-] ‘-: |r:|'I ﬁ@ﬁ

Current weekly status
qeHE WTaled R

Usual principal and subsidiary status
4 % SHN I Ud WeTgh efid
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Question Label : Multiple Choice Question

Rank the states in ascending order in terms of Human Development Index (HDI) as per
India Human Development Report 2018 :

Il BT Jd [gHTH Gadle Uladed 2018 & Had H dgd gU HH 4 ¥ Qg

1. Bihar
faem
II. Gujarat
LR
1. Odisha
-

IV. Tamil Nadu

TS,

Options :



Codes :
[ Tolli

[4]

L 1L I, IV

Codes :
 Toli

[5]

I I IL IV

Codes :
= Tolli

[4]

LOL IV, IT

Codes :
[ Tolli

[4]

L IL L IV
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Question Label : Multiple Choice Question

The RBI made Indian Rupee fully convertible in current account transactions related to
coods and services in the year :

fg a9 # RBI -1 =i @d § g3l Ud Haeil & o0 § 9N 99 B go
gfRaaeiter a4 faar o -

Options :

L% 1985

5 % 2002

3 1994

4 % 2011
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Question Label : Multiple Choice Question
Match following list and provide correct combination :

List-1 List-2
-1 -2
(a) Head Count Ratio (i) Extent of poverty
(b) Poverty Gap (ii) Depth of poverty
(c) Square of Poverty Gap (iii) Poverty as deprivation
T SmaRTel al TE a9 (Femrgaem)
(d) Multidimensional Poverty Index (iv) Severity of poverty

Options :
L% (a)-ii,(b)-i,(c)-iv,(d)-iii

5 % (a)-iii.(b)-11.(c)-1.(d)-1v

3 % (a)-i,(b)-ii,(c)-ii,(d)-iv

4 @b} (C)-iv,(d)-ii
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Question Label : Multiple Choice Question



The phenomenon of 'Demographic Dividend' is related to which of the following ?
FHfb® o™ @ SguRen 4 H O feay Hag 2 ?

Options :

An increase in sex ratio

feA™T Agurd H gf

1. ®

An increase in the share of female population

2.ﬁ q;:\ﬂ-\."'.z-@-l EF_": |::| \.IﬁEE'-'E-
A decline in Total Fertility Rate

3 % B TS SR H B

An increase in the share of working age population

4 PR S & U | IhE
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Question Label : Multiple Choice Question

Arrange in chronological order :

M 1 FHATTER diNerd Hifofy

(a) First phase of nationalization of commercial banks
IS dahl @ ST IgEVoT T WerH vl

(b) Establishment of Narashiman committee on banking system
Gich T SIawRl U FRNTEA AN &1 64

(c) Enactment of FEMA act.
FEMA farfgs &1 sraiga-

(d) Establishment of EXIM bank of India
g EXIM & @1 =Ia]

Choose the correct option :
" fawe gy

Options :



% acdb

5 J,adbc

3 % acbhd

4 % adch
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Question Label : Multiple Choice Question
Match the following :

= g o1 ey

List-1 List-2
-1 -2

(a) E.Cannon (i) Optimum population
g0 A AgheTad WA

(b) Frank Netstein (ii) Transaction costs

!jki_rﬁ JCiCH

(¢) Brundtland

SO Vs

(d) Ronald Coase

Options :
(a)-1,(b)-ii,(c)-iii,(d)-iv

(a)-11.(b)-1.(c)1v.(d)-ii1
2. ®

(a)-1.(b)-iii.(c)-iv.(d)-ii
3.9

oo @ T

(iii) Demographic transition
TS Heh U]

(iv) Sustainable development

Had Tl



(a)-iii,(b)-iv.(c)-ii.(d)-i
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Question Label : Multiple Choice Question

Consider the following statements about the social cost - benefit analysis for viability of
projects. Which of the following statements are true for this analysis ?

T dioide @ AMIde g 3R a [a9eyor @ SIdeddr @ dag 5 9 S
W IR $Hife | 59 fvem &g 7991 § 9 $19 $Y9 981 2 ?
(a) Internal Rate of Return should be greater than Social Discount Rate
Il &1 AT<NS SY IS 92 @ §¥ U 3Afgd 21 =12
(b) NPV should be equal to zero
UHo Ulo dlo N EGIRCEIEN
(c) Shadow prices are used for the calculation of benefits and costs
oM X 819 & fey Ol Heg &1 Uan gl 8

Options :
Chose the correct option :

(1) aandc

adNc
1. v

Chose the correct option :

(2) aand b
) % adiRb

Chose the correct option :

wel fdde g
(3) bandc
- baic



Chose the correct option :

(4) aonly
&ad a

Question Number : 72 Question Id : 50939817594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Assertion (A) : Disguised unemployment is present in India
AMHYT (A) : 9RA H U=o~ RGN Al9E &

Reason (R) : Agricultural productivity at margin is close to zero
ST (R) : WHET W P SAEdal I D UMY 2

Options :
Both (A) and (R) are true and (R) is the correct explanation of (A)

L g (A) 3N (R) |21 § 3R (R) &1 (A) & == 8

Both (A) and (R) are true, (R) is not the correct explanation of (A)

, x SH(A) SR (R) W€ & Al (R) (A) FT @ 78 &

(A) 1s true but (R) is false

-~ (A) 921 £ oifs (R) Tod &

(A) is false but (R) is true
(A) Tea & oifed (R) 921 8
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Question Label : Multiple Choice Question

Which of the following is not an example of 'market failure' ?
9 § 9 ®F R JIHHAdl & BN F8 © 7

Options :



Monopolies

1. %

Asymmelric information
AT I

2. 8

Economies of scale

UaT T Ufawe
3. J

Externalities

4 x TEEE
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Question Label : Multiple Choice Question
Match the following :

= gt a1 Ay

List-1 List-11
-1 -1
(a) CAPART (i) Agricultural marketing
(by SIDO (ii) Quality guarantee
'\fl g ] Ul U B4
(c) NAFED (ii1) Small industries
(d) AGMARK (iv) Rural technology

Options :

(a)-1.(b)-it.(c)-iit.(d)-1v

(a)-iv.(b)-iii.(c)-ii.(d)-i



(a)-1v,(b)-ii,(c)-iii,(d)-1
3. %

(a)-ii.(b)-iv.(c)-i(d)-iii
4, ®
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Question Label : Multiple Choice Question

Consider the following statements about the correct order of the stages of demographic
transition associated with economic development :
fefs fg & Hag o FAAD] WHAV & JaT & Sfad HH & an H FefeiEd

(a) Low birth rate with low death rate
=1 o eY SR A g =R

(b) High birth rate with high death rate
(c) High birth rate with low death rate
Options :

| @ bca
) % cha
3 % abc
4% cab
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Question Label : Multiple Choice Question



Arrange the following in chronological order :
(M1 B FHATGAN $9 § Faierd Sy :

(a) The Indirect Tax Enquiry Committee (L. K. Jha Committee)
AU Y URIET HHT (Tefo @o T HAM)

(b) Tax Reforms Committee (R. J. Chellaiah Committee)
B YUR AT (3o So dferar |fafa)

(c) Taxation enquiry Commission (Mathur Committee)
BN TRIET AR (AR Aff)

(d) The Direct Tax Enquiry Committee (Wanchoo Committee)
yehel Y Wrh \ERT (@ aEt)

Options :

| % cbda

cadb

3 % bead

4 ﬁ?cdab
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Question Label : Multiple Choice Question

In efficiency wage model, the real wage is set to :

ToIgR] B HICAT RGP Foigd P TS 09 W GAdH & ¢

Options :
Minimize the efficiency of worker per rupee of real wages received
Ufd 9Y Holgdl d Il ddidd Halgd] & YAdH B

1. ®

Clear the labour market
5 s HH AT BT FER B



Not to clear the labour market

3 % H FTAN DI FOAT A8l o

Maximize the efficiency of workers per rupee of real wages received
AuigNl @l Releldl ddidd Auigyl & Ud ©Ud UN JAfEdad &Y

4.9
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Question Label : Multiple Choice Question

'Tmmiserising growth' is the term given by :

r [ - _.i_'\-'. .' i“'\-\._, = ..'\ o -
gHINRTENTT Adle ¥sg TodA 1] o7 :

Options :
Amartya Sen

N. Kaldor
UHo Bk

Paul Krugman
W" ;il‘ 3

Jagdish Bhagwati

. U EHENER]
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Question Label : Multiple Choice Question

Apart from the size of its population, which of following is considered in India in
defining urban area ?
STEEI @ AT @ S, WRd H wEY &9 & ufr e § e 8 8 e mw




Options :
Half of its male working in non-primary sector
| 3T GO TN-OTI &5 § P B

A police station, a telegraph office and telephone facility

. gfers e, TolldTh S 3R gREm giay
2.

A police station, a college and a hospital
qferd WA, Bichd 3R e

Three-fourth of its male working on non-agricultural pursuits
4&?ﬁ?ﬁmwﬁ?qﬁéﬁﬁmaﬁ

Question Number : 80 Question Id : 50939817602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In 2011 the proportion of urban population was more than 409% in the states of :
2011 &1 ST § TR0 FEET &1 AJud 40% 9 e ffefigg wear 9 or ¢
Options :

Tamil Nadu, Punjab, Andhra Pradesh, Gujarat

dfAcTg, TulTd, 3 9qel, Tolva

Tamil Nadu, Haryana, Gujarat, Maharashtra
. dfAeTg, BRAT, T[T, HENTS

2.

Tamil Nadu, Kerala, Andhra Pradesh, West Bengal
nmm@ "-E;J‘{C"L HI-H EIE'Q-I, gfg=y 99Te

3. %

Tamil Nadu, Kerala, Maharashtra, Gujarat

4 dlHelAdlg, &xad, Helxkiy,, uixid
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Question Label : Multiple Choice Question

Assertion (A) : Colin Clark hypothesized that the safe upper limit of taxation is 25
percent of national income.

AMBYT (A) : P Tl BT FFheddl & ATAR DRIV H1 GRIET Tdax A
IS 3 HT 25 ufoerd 2
Reason (R) : The excess burden of taxation will be very high if it goes beyond the 25

percent limuit.
S (R) : IS I= 25 Uiaerd &1 WHET | W Odl 8 o SR &1 SdEl 4R 98d

Wiy 2 godr 21

Options :
(A) is true, but (R) is false.

l W {.'ij "\-":'-._:I %.. e B 1 {R] 'k-.r 2 '-._-:l %:l

Both (A) and (R) are true.
, & (A) 3R (R) 51 9 €|

Both (A) and (R) are true and (R) is the correct explanation of (A).
3 ¢ (A) R (R) 1 6 € SR (R), (A) T FE TP |

Both (A) and (R) are false.

4 % (A) 3iX (R) SM41 39T 2 |
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Question Label : Multiple Choice Question

Equity in taxation can be best achieved by applying the principle of :

fra FagT=a &1 SUART &Y 9 SR § Halltd GAaT 9T $ S Jehal 8 2

Options :

Equal Absolute Sacrifice
| x O FRUE QT



Equal Marginal Sacrifice

7 ' EEIIE]
) HHIH HIHId &l

Benefit

3 % M

Equal Proportional Sacrifice
4w A Ui T
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Question Label : Multiple Choice Question

If the elasticity of demand for a good is greater than elasticity of supply for the good
then :

afe fedl aeq @1 |40 @1 drd SE$! gfd @ drkd 9 Jfde 2l 8, dl
Options :

The burden of tax on buyers would be higher than that on sellers.
| % DX AR TAmarst @1 e smansi W ifEw we |

The burden of tax on buyers would be lower than that on sellers.
5 o PY AR feeheratl @1 STUeqT sharell UY &H IS |

The burden of tax on buyers would be equal to that on sellers.
3 % PXTR BRI SR BRI W W w9 W TS

Incidence can not be shifted.
4 % PO P GEE TR fEAr S w2 |
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Question Label : Multiple Choice Question



Which of the following is not an objective of fiscal policy ?
Fr=iferfiad 3 9 $H-91 Taeg Aifd #1 99w J8 © 2

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Fixing statutory liquidity ratio
TS YT ST Ui S

1.

Influencing consumption-saving ratio
SIITT-g9d AU BT THIfET BT

2.

Checking inflation and depression

Reducing disparities in distribution of income and wealth

A T 97 ¥4 & faaww 8 fO9Tadar &7 &5 &l
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Question Label : Multiple Choice Question
Which of the following is not included in a capital budget ?

Freffafad 5 | #F Jofl guc 4 mida 787 2 ?
Options :

Money collected from public borrowings
| OGS Pl H AT

Expenditure on asset formation

, x UREERT T W o

Interest payments

3@,.?7-'1'!?[3‘3"‘?117[



Small savings collection by the government

4 % SGYPR NN off =4 H e
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Question Label : Multiple Choice Question

The numerical value of balanced budget multiplier is :
Aqferd el TUId HT s 4 €

Options :
1

v

Less than 1 but more than zero
, x| W ®H (o] g 4 A6

More than 1
L % 19 S

Zero

sx IO
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Question Label : Multiple Choice Question
Excess burden of tax means :
Options :

The net welfare loss from a tax
@ X F fad wea 31 @

1



Very heavy burden

2ﬁa§raﬁmw

Burden over and above the money burden
; x 351 AR D R SR AR

Money burden and real burden

L gaT 9N IR arEiids AR
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For the first time in India zero base budgeting was implemented in the finance minister
ship of :

ARG § Ugell IR YI-AMER gefeT fHy & 950 & sriere § qika gar

Options :
P. Chidambaram
o fIgmad

1. % *

Manmohan Singh

2$H¢mrr—rfh?

V. P. Singh
3 dlo dio fiiE

Jaswant Singh
4 % orada fHE
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Borrowing form foreigners are known as :
Options :
Export of goods
| w TGS @

Unrequited receipts
5 w SHfcreT ottt

Capital receipt
3 @ JoiTd wTfean

Current receipts
4 % ole], =Tl
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Question Label : Multiple Choice Question

Match the following and select correct answer from the codes given below :
Ffead &1 JAfed FIfey T2 AU 1Y | 9 Hel 9 Bifcd -

Group-1 Group-11
a9e-1 aqe-11

(a) Revenue deficit (i) Government borrowing from the RBI
A HIET RBI ¥ U WX 0]

(b) Fiscal deficit (i) Revenue expenditure — revenue receipts
S EAL TR W31 od 8 — e 9

(c) Primary deficit (iii) Fiscal deficit — interest payments
TI o el TABINI =Sl — @i BT YT

(d) Monetized deficit (iv) Total expenditure — non-debt receipts
e Tepd =IET el I - =0T 3T

Options :



Codes :
P

(4]

(@ ((d (© (d)
I.J{ii} (iv) (i) (i)

Codes :
¢C

[4]

(@ (b (© (d)
) % (i) (1) (v) (i)

Codes :
fC

(4]

@ (b () (d
L @) (i) ) )

Codes :
fC

(4]

@ b (© (d
L x @)@ ) G
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Question Label : Multiple Choice Question
An act of devaluation of a currency, other things being equal, will :
I 911 & WHER Y8 8¢ gl & HTHIT B U

Options :
Increase the total quantum of the exports and reduce the total quantum of imports of
the devaluing country.
FTHEI BN del 29 F Eid @1 e Jra H gig En o A @1 e Jr
| § T

Increase the total quantum of both exports and imports.
) % Frafd, S Td ]9 @1 el A1 § gl 86|




Decrease the total quantum of both imports and exports.
FrIfd SIrara SH1 &1 e AT § A 26

3. %

Decrease the total volume of exports and increase the total quantum of imports,

ot @ 9 § &6 BFl 9 G o @ A A 9fg @l

4. %
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The difference between export and import of services is called :
Harell & Ea SR S @ dE Sy dEendr ©

Options :
Balance of Trade

Balance of Invisibles
3gTY AGl BT 9N

Balance of Current Account

Balance of Capital Account

4 % DT TIT BT A
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Funds not belonging to the Government are called :
A BN/ [l SRER @ 9HR 98 8 FEdl ©

Options :



Contingency Fund

| % HATch[+Hh ﬁ\:f_a' iﬂ; ]:I

Consolidated Fund
, x WTEd

Private Accounts

3. \?{} I L4 ;_q

Public Accounts

4 % HTdoA-Teh ol
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Question Label : Multiple Choice Question

Which one of the following is considered as non debt creating foreign investment inflow 7
Ffeiad 9 9 9 o fage Havr sfaale v=en o 2 °

Options :
External Assistance

| TS SHER

Foreign Direct Investment

faeefl yeae a9

2.

Borrowing from International Monetary Fund
3w STORIST ] BT Y TR

Commercial Borrowings

5 L vadh e

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Major objective of public distribution system is :
AT [aewu eaeel & J%@& Ja9d ¢

Options :

Exports of Food
% QTR & i

1.
Import of Food

5 % WTEl~ &l AT
Quality of Food

3 % Tl & Ure]

Food Security
4. v BN QjKE
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Question Label : Multiple Choice Question
Bretton Woods twins are :

gcd g8d & Jsdl & :

Options :
USA and UK

| % T THo To 3 Jo o

IMF and IBRD
- 3o THo o IR Ao dlo ANo Slo

ITO and WTO
3 % o Tlo o 3R Sao o 3o
GATT and UNESCO

L Wlo To Tlo Tlo {TIE} 1K o THo Efo THo Hlo 3o {W}
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Question Label : Multiple Choice Question

Comparative cost advantage in Ricardo's international trade theory arises due to ;
RSl & AN AR Fgrd d gelcds AFTa-o¥ 39 SR 26l 8 ¢

Options :

Labour Cost Difference
AuigR] ARTd § 3=

1.v

Difference in Factor Endowment
s TEH SUAEA H I

Factor abundance defined in terms of factor prices

3 w TS AT TR URATNT A Rl

All of the three
a3 9 94l

4. %
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If the International terms of trade settle at a level that is between each country's
opportunity cost then :

e AN & R 90 99 WX O dd 8l & ol Idd <9 & [aWN oFd &
4T Tgdr © I

Options :

There is no basis for gainful trade for either country.
y [0 1 T P AT AN AR HT FIE AR el 2 |

1.



Both countries gain from trade.

a\ﬂ-ﬁ?ﬁﬂﬁ%q“c@?cﬂm%ﬁ%
2 W

Only one country gains from trade.

; , PaC TP T T HAT |

One country gains and the other country losses from trade.
Ueh <9 Bl AR ¥ &M Bldl & 3R T 99 Bl 20 |

4, %
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Green Box subsidies under WTO are allowed because they are considerd to be :
[9q SR Heed & 310 W9 999 SueH (e e @R S9E | TS © F@ife
ge :

Options :
Minimally trade distorting.
_[AH @UR fadia Hvdr & |

1. %
Higher among developed and relatively lower for developing countries,
- fawiad o2 H Seday 3R SIfd@iad a9l 4 ametaan Fe=ox ¢ |

They are confined to agriculture sector.

y o P TE A gl

They are related to GATS provision.
, x T (o To Ao TwHo) & ST F Wt
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Hedging refers to :
gfeRen (Efei) Hefia @ & -
Options :

The acceptance of a Foreign Exchange Risk.
| % faeeh faf=a Sifgs @1 wiafd @7 |

Covering of Foreign Exchange Risk.
) faeel fafma Sifad @1 Fav (Hrge) S @ |

Foreign Exchange Speculation.

, x N R & Rew (@zareh) a1

Foreign Exchange Arbitrage.
fagell faf=a fEame @11

4. %



